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Every 2x2 real matrix A represents a linear transformation T : R->R"which is the

matrix transformation Tay] = Afg]·
· . Gl : I) To

is a counter-clockwise 90 rotation about the origin in R2 :

Yet /] = (i ) = li]
- ET Tli) = 100](%] = to]93 ⑪

Domain R2* Range R2
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Ta = I [ (j) = (g)
#counterclockwise rotation by angle & about the origin in R represented bycost
the matrix RiCOSP-Sit ] F Ro(o) = (sing] Ro(%] = [sin ]

king
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cos (4+B) = cost coss-sing sing
Sin(n+s)

= sind coss + cosa sing

]RpRy=Rap i lo -in,






















































